Unit 8 Day 16 Notes on Vertical Motion KQ‘%/'
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Vertical Motion Equation: h(t) =-16t"+ vt -+, Do I need to memorize this: Yes

where
h(t) is the height of the object at any time, t

v, is the initial vertical velocity

A, is the initial vertical height

ho Vo

A ball is hit into the air from an initial height of 3 ft with an initial vertical velocity of 40 ft/s.

a. When does it reach its highest point? h({) s ..\('tz 4+ "‘D £ + 3
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b. How high does it go?
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c. When does it hit the ground" - *2-4, o 4,3 = O
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